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GROUP : A
Select the correct alternatives : 1x8=8

1.a)  Which one is true?

) 2+3i>1+4i i) 3+43i>6+2i i) 3+9/>5+6; iv) None of these

: 1+
b) The least positive integral value of n so that [13} =1lis
=

i) 2 i) 4 iii) 3 iv) none of these

c) If sin49° =%; then the value of sin581° is

i) g i) —g iii) % iv) none of these

d) If Ac B and Bc A then
i) A=¢ i) AnB=¢ iii) A=B iv) none of these
e) A-B=¢ iff

i) A= B ii) Ac B i) Bc4d iv) AnB=¢

) If tanx=rb—; then the value of (02 +b2)sin 2x is
ad
- w - ok D
i) ab i) 2ab i) — iv) —
)ab i) 2ab i) i) 5

9) The acute angle between the lines x+yJ§+ 7=0 and x\/g—y +8=0is
a) 45" i) 90° i) 30° iv) 60°
h)  The slope of the straight line joining the points (\/51) and (—3,—\/5) is

D1 i)Y W) = iv) -
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GROUP:B
Answer any six questions : 6x4=24
> Forany two sets A and B; prove that (4N B)r =A'VUB.
Refer page 14.
3. If A={x/-1<x<2}and B={x/0<x<4} find
a) A-B b) (4uB)-(4nB)
Refer page 22, example -14.

4. Prove that (a+bw+cwzf+(a+l)(oz+C(uY:27abc if g+b+c=0 and o is an

imaginary cube root of unity.
n= ot bwte w? = atbw?+ et -

LHs, m3+3 = (wty) (mHwy + gar[iafb(w-fw2)~tt (w%w)j
[a(t-&w)f b({»-wQ){—Zew‘a}[q( tw>) t2.bw te (“’l“FDJL
'—*—C‘za—b—e) w?( 2e-a~b) - (2b-a-¢)
=(20-b-¢) (2e-a-0)(2b-a-) = 8.3 3b= 2 tabe = R-HZI-

b, If show that amp 2| = ampz, —ampz,
z5 g
.-ZI:_: 1+ £J3 - Q"'J‘]—é)(‘]—él—j): u
Zg 18~ @’é r.f) (Ja +£)

. - . LB
21 = () = B0 97T V9 22 - L+ 5=3
2
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6.  Solve by Sridhar Acharyya's formula 6x —(18+51)x+18+i= O(i = ﬂ)

w- —brlbEdne _ = (stsd A ([resnmuxen (166D

200 2% . —

‘ 0

= [S’{:S\f) iv@_\{’f“\ 36\!5—{»2,5‘&1._ Ygo —2 4w
o 19

7 The sum of n terms of two A.P’s are in the ratio (4n-13):(3n+10). Find the ratio of

their 9" terms. Refer page 393, example- 11.

8. Find the sum of the series upto n terms: 1+5+12+22+35+... ton term.
Sp=ltstt2a+22+35+ - o e
§p= 115t (2 22+ - +J(nm‘-+\}n_
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9. Find, graphically, the solution set of the following linear inequation :

2x+5y <40
x+y<l1l
x20,y=20

Refer page 322, example- 43.
GROUP: C

Answer an six questions :

10.  Evaluate tan70° —tan50° +tan10°

Refer page 980, problem 13
1. If psin@=gsin(120° +8)=rsin(240° + 9); find the value of pg +gr+rp.

12.  If a, B,y are in A.P.; show that cotﬁzw

Wty =2p -

COS ¥ —COS &
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13. |If tanﬁ=%‘1-@2-sﬁ; prove that 3tan(e - 8)=2tana
Cos &

Refer page 125, example-13
‘3 v 3 0 . 3 0 3.
14.  Show that sin’ #+sin (120 +6’)+sm (240 +9)=——4~sm39

Refer page 143, example-11
15.  If tan(4+ B)=3tan 4; show that sin(24 +2B)+sin24 =2sin25 .

Refer page 145, example- 20
16.  Find the value of @ for which sin@sin[@—%) is maximum.

Refer page 135, example- 13
17. I tan(a - B)=l;sec(a + f)= %; find positive magnitudes of o and f3.

Refer page 113, example -13

6x4=24



GROUP : D
Answer any six questions : 6x4=24

18.  The ratio of the distances of a moving point from the points (3,4) and (1,-2) is 2:3;
find the locus of the moving point. Refer page 544, example 33.

19.  Find the ratio in which the straight line 3x+4y=21 divides the join of (-9,5)
and(7,9). Refer page 468, example-13.

20.  Find the equation of the straight line which passes through the intersection of the
straight lines 2x+3y=5 and 3x+5y="7 and makes equal positive intercepts upon
the co-ordinate axes. Refer page 469, example- 16.

21.  Find the equation of the straight line passing through the point (2,-3) and parallel to
the straight line 3x—4y =0. Refer page 539, example-4.

22.  Find the distance of the point (3,5) from the line 2x+3y =14 measured parallel to
the line x—2y=1. Refer page 542, example-12.

23. A ray of light through (8,3) is reflected at (14,0) on the x-axis. Find the equation of

the reflected ray. WG‘% AP = 3-0 . _.\5 ZoﬂP: /,XﬂL,
8’*1‘4 N

=Yy ~0 N LA VA . 3 (e
L+("/9)»0) : l"‘m{)) =) 3= |m] som=3 (= 2 _2/)
FO\J\M = o= },’(’U\ALD =) M- 24 = 1

24,  The co-ordinates of one vertex of an equilateral triangle are (2,3) and the equation

of its opposﬂe side is x+y=2. Find the equation of its other sides.
Eaquaion 6|, AB AC wikh lshe i pacedy Thavugh (2,95
Y- 8“ m(q\) =) MW= 3"'2“\%3 e »
CpARe @ wgquiladal o0t 60° = |———“\ﬂ | =) me 2 603, 9-33
mu—
2, (Q%JED'}\“ Y-2(24J3) +23-0
ord (2-33)w-y-2 ((2-J3)+2=0
25.  Find the equation of the straight line that passes through (-1,2) and perpendicular

to the line 2x—3y+1=0. Refer page 540, example-5.
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